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R1:=10 R2:=15 R3:=20 U := 100

£=5 2 :=
R3 R1+R2

11:=13+12=9



2. 3adaHue

E1l:=50
E2:=10

PelueHne cuctemMbl JIMHENHbIX YpaBHEHUI C UCMONb3oBaHUEM dyHKUmMI Given u find

Given
R1M1 + R303 = E1
R22 + R33 = E2

11+12-13=0
2 2
Ix := Find(11,12,13) - | -1 Ix = | -1
1 1

PeLueHve cuctemMbl SIMHENHbIX ypaBHeHMVI C nnonb3oBaHMEM MaTpuLy

ORIGIN =1
10
50
R=120 E:=
10
30
1 1 -1 0 2
A=|R1 0 R3 B=|E1| 1=A"'B=|-1
0 R2 R3 Eo 1

BanaHc moulHoCcTeNn:

k:i=1.2 Pe :=Z[(|k)[Ek] = 90



MocTpoeHue rpacukoB

k:=20 Jo=10 w = E
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Jo=(0 246 8 10 12 14 16 18 20 22 24)
P:=(112 154 136 174 205 275 190 254 269 210 173 157 148)

cpegHekBagparn4eckoe OTKIoHeHne

stdev(P) = 49.511

apumMeTH eckoe cpegHee (cpegHee 3HavyeHre) mareMaTudeckoe oxugaHme

Pc := mean(P) = 189
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